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i) General Awareness

Which of the following State has recently
launched the “Paudhagiri Campaign”
for planting of saplings to increase the
green cover in the State ?

(A) Rajasthan

(B) Chattisgarh

(C) Haryana

(D) None of the above

Every year World Biofuel Day will be
celebrated on

(A) August 10™

(B) October 22™

(C) September 21*
(D) None of the above

What is the main objective of the World

Wide Life Foundation's “TX2” program ?

(A) To double the population of Tiger
Shark by 2020

(B) To double the Tiger population by
2022

(C) To double the Tortoise population
in the pacific ocean

(D) None of the above

Who became the first person to be
formally recognised as Leader of
Opposition (LOP) in the Loksabha ?

(A) C. M. Stephen

(B) Ram Subhag Singh
(C) Jagjivan Ram

(D) None of the above

5. Which of the following missile system will

be acquired by India from US to create
the ambitious multi-layered missile shield
over Delhi, along with the Israeli, Russian
and home-made systems, to safeguard
the capital against aerial threats ?

(A) NASAMS I

(B) Dhanush

(C) Agni-Vi

(D) None of the above

Which one of the following States
of India given below also known as
“Pearl of the Orient” ?

(A) Goa

(B) Jammu and Kashmir
(C) Odisha

(D) Rajasthan

Which of the following statement/s
is/are true with reference to the Indian
Regional Navigation Satellite System
(IRNSS) ?

1. ltis aset of satellites which together
can provide India a regional
positioning system similar to the
GPS

2. IRNSS also extends its service upto
1500 km beyond India's boundary

(A) 1only

(B) 2 only

(C) Both 1and?2

(D) None of the above
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(B) BHETg

(C) famm
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. vfa ad fave S 3u= fRam F
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(A) 10 3R

(B) 22 I

(C) 21 fods

(D) 3% H AHE T
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(A) 2020 T TR Tk 1 TE&AT hi
AT AT

(B) 2022 T ST i TEAT 1 AT
Excl]

(C) R HETPR H gl ! T i
SRTAT AT

(D) 3% H A HE T

. AT I S & Ja1 S €9 ° i
T Y HIEAT I A I T S fad
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(A) i . i

(B) T gww e

(C) STsiiad |

(D) 3§ A P T
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% fore sowett, w6t o wrw fififa
T o Wl W Teh &l SEe i et
Fae fooeft WM % fore wra g g,
¥ Frafafaa @ 3 #-dt rade gonedt
AR ?

(A) NASAMS Ii

(B) &3¥

(C) =A=-VI

(D) 3FAE UHE Tl

. Tr=fafaa @ | fa wrda tsa =

‘@ FTHA FETI@TE 7
(A) T

(B) ST 3R FTHT

(C) ehfssm

(D) TSRYH

. T eefrr aitemor 3w Yottt (IRNSS) &

Ted il e i o PR g R ?
1. TR ST Tk GY=9d ¢ S Uh 91
St .ud. & aWe a1 e e
YOIt 3T T FHAT R |

2. IRNSS A7t FaT Ara &t Hiursti &
e 1500 foFt T T TFaT® |

(A) a1

(B) % 2

(C) 13 2aMi

(D) FAH VTR T
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10.

11.

Itis one of the famous beach in the State
of Odisha, it is also unique in a way that
the water recedes upto 5 kilometers
during the ebb tide, due to its unique
circumstances, the beach supports rich
biodiversity. Which one of the following
could be this ?

(A) Chandipur beach
(B) Gopalpur beach

(C) Puri beach

(D) None of the above

What is the State animal of Haryana ?
(A) Asiatic Lion

(B) Black buck

(C) Nilgiri tahr

(D) None of the above

Which is the western most territory of
India ? |

(A) Panaji, Goa

(B) Ghuar Mota, In Kutch, Gujarat
(C) Gandhinagar, Gujarat

(D) None of the above

Karma Bhumi is the crematorium of
which one of the following former
Presidents of India ?

(A) Rajendra Prasad

(B) V.V.Giri

(C) Dr. Shankar Dayal Sharma
(D) Neelam Sanjiva Reddy

12.

13.

14.

15.

He was an Indian independence activist
and political leader and he was also
popularly referred to as Lok Nayak.

(A) Lal Bahadur Shastri

(B) Jayaprakash Narayan (JP)
(C) Sardar Vallabhbhai Patel
(D) None of the above

What is the administrative capital of
Malaysia ?

(A) Tripoli

(B) Putrajaya

(C) Havana

(D) Ottawa

Which of the following article of the
Indian Constitution deal with special
status for Hyderabad-Karnataka
Region ?

(A) Article 371 (J)

(B) Article 370

(C) Article 238

(D) None of the above

She was an Indian Politician and Supreme
Court lawyer. She was the second woman
to hold the office of Ministry of Extemnal
Affairs after Indira Gandhi.

The above mentioned lines explains who
among the following women Politicians of
India ?

(A) Nirmala Sitharaman

(B) Sushma Swaraj

(C) Smriti Irani

(D) None of the above
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(B) =T fexmm
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(A) TRIE ¥4

(B) &t . i

(C) . Yo gt I
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13.

14.

15.
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(A) A TR I

(B) STIYERTST TR (S i)

(C) HTEN IeeA9HE Uee

(D) 3% 4 Y PR &I

oy S e TeaE - R ?
(A) Tt
(B) T
(C) &&™I
(D) 3TrET
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(A) IT=E 371 (J)

(B) 31T=< 370

(C) =% 238

(D) 3% H A Tl
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FIT T HHTeH aTelt gad wigen of |
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(B) g1 =TS

(C) wfa s

(D) I H T HE T
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16.

{Jra

18.

19.

Machu-Picchu, an Inca citadel and also
a one of the 7 wonders of medieval
modern world is located in which of the
following country ?

(A) SriLanka
(B) Canada
(C) South Africa
(D) Peru

Research and Analysis Wing (RAW),
IS an intelligence agency of which one
of the following country ?

(A) India
(B) Russia
(C) Australia
(D) China

Choose the correct pair of Newspaper
and its places :

Newspaper Places
1. Khaleej Times - Dubai, UAE
2. The lsland
(A) Only 1
(B) Only2
(C) Both1and 2
(D) None of the above

— Indonesia

National Sports Day in India is celebrated
every year on

(A) August 2

(B) September 22
(C) August 29"

(D) None of the above

20.

21.

22.

23.

Which of the following river also referred ‘
to as “Sorrow of Bengal” ?

(A) Kosi

(B) Damodar
(C) Subarnarekha
(D) Gandak

Which of the following clauses of
Memorandum of Association is to be
signed to considered as member ?

(A) Capital clause
(B) Obijective clause
(C) Subscription clause

(D) Liability clause

Which of the following documents is issued
by the company to collect capital ?

(A) Memorandum of association

(B) Prospectus

(C) Article of association

(D) Red herring certificate

Posting of Secretaries in the Ministries
and Departments of the Central
Govermnment are made by

(A) Prime Minister
(B) President

(C) Cabinet Secretary of Union

Government
(D) Ministers of respective ministries

and departments
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20.
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(A) FHt

(B) TMIEX

(C) et

(D) TEF

TS AR 9TH & e g wer@ &1
HH-F1 I FEATERA AT BT 2 7
(A) Tt 3w

(B) <&d 3wy

(C) TR 39aY

(D) < 3TEY

Wit e e & fora e 3 g Fierforfa
T ¥ HH -1 S 9l R ST e ?
(A) TEITH TG

(B) HET

(C) TEITH 3TT=e
(D) T efor wmmor

s TR o HATHT TR 9w & Tiedi &t
Fgfr FOHI AR |

(A) TaHEA

(B) Trgufd

(C) T9 TEE &1 e Afea

(D) Taftra WarerT o fasye & wat
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24.

25.

26.

27.

Appointment of Managing Director is

done through

(A) Article of association

(B) Agreement with the company
(C) Resolution passed in general
meeting

(D) Inthe meeting of board of

directors

Including public and private company, a
person can be Director in as many as

(A) 10 companies
(B) 15 companies
(C) 20 companies

(D) 25 companies

Minimum number of Directors in Public
Limited Company should be

(A) 2
(B) 3
(C) 4
(D) 5

Quorum of Board of Directors in the
meeting of Directors is

(A) 1/3
(B) 172
(C) 1/4
(D) 1/3o0r2

28.

29.

30.

31.

{100 O A T O

Company Registrar is to be informed
after the appointment of Managing
Director in

(A) 60 days
(B) 45 days
(C) 25 days
(D) 30 days

After the formation of company,
first meeting of Directors should be
conducted within

(A) 10 days
(B) 15 days
(C) 25days
(D) 30 days

Maximum number of gap of months .
between two annual general meetings
of companyis .

(A) 12 months
(B) 15 months
(C) 18 months
(D) 20 months

Notice is to be served to the Member or
Director prior to the general meetings of
company before

(A) 20 days
(B) 21 days
(C) 31 days
(D) 25 days
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wofemfifgia  Faem
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(C) W™ o | qiita Heheq
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(A) 10 &t

(B) 15t

(C) 20wzt

(D) 25 Fafat

adorien fefiiee e i et 1 e
e EFi=mRu

(A) 2

(B) 3

() 4

(D) 5

Tt ) o 2 e tecr 1 B 2
(A) 1/3

(B) 1/2

(C) 1/4

(D) 17332

28.

29.

30.

31.
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(A) 60T
(B) 45w
(C) 25f&
(D) 30f=

FUH1 5 o e, vt 1 Teelt dew
% o genfora e =R |
(A) 10f&

(B) 15f=

(C) 25f&

(D) 30fH

FOH 1 31 FNF AT ok & o
AR AR I FARA TR |
(A) 127®
(B) 15W®
(C) 18W®
(D) 207w

FHFTHESHE  Haed
I1aT fewes w1 i 9 e ST aTRe |
(A) 20fm
(B) 21f&
(C) 31f&
(D) 25f@
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32.

33.

34.

35.

36.

National Company Law Tribunal is
situated in

(A) Bengaluru
(B) Mumbai

(C) Chennai

(D) Delhi

The company have to start business
after getting incorporated in

(A) 6 months
(B) 8 months
(C) 10 months
(D) 1year

The declaration of solvency of a
voluntary winding company is done by
(A) Directors ‘
(B) Secretary

(C) Creditors

(D) None of the above

The number of votes required for the
passing of special resolution is

(A) 51%
(B) 75%
(C) 65%
(D) 2/3%

Who can vote in case of equal vote ?
(A) Creditors

(B) Secretary

(C) Chairman

(D) Managing Director

37.

38.

39.

40.

The number of meetings of Board
of Directors should be called by the
company in a year is

(A) 2

(B) 3

(C) 4

(D) 6

Which of the following is not a duty of
Secretary of a company ?
(A)

To decide the procedure of
agenda

(B) Record the proceedings of the
meeting

(C)
(D)

Convey thanks to the members

Use his casting vote

Recently G20 Summit held in
(A) Shanghai

(B) Osaka

(C) Toronto

(D) Seoul

If a shareholder is declared insolvent by
court, his

(A) Share transfer will not be
executed

(B) Share transmission will be
executed

Both (A) and (B)
None of the above

(©)
(D)
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(B) 75%

(C) 65%
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37.

38.

39.

40.
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(C) 2=
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(D) 3% H & HE e
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42.

43.
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ii) General Intelligence and Reasoning Ability

Select the pair that has the same
relationship as the original pair of
words.

Sorrow : Misery

(A) Love : Obsession
(B) Amity : Enmity
(C) Happiness : Joy
(D) Enemy : Hatred

Find the suitable altemative for ‘?’
GREAT : 25:: NUMBER : ?

(A) 36 (B) 38

(C) 27 (D) 24

Find the odd member of the following.
(A) Wife

(B) Bachelor

(C) Widow

(D) Spinster

Each vowel in the word JOURNEY is
replaced by the previous letter in the
English alphabet and each consonant is
replaced by the next letter in the English
alphabet, then the substitute letters are
arranged in alphabetical order. Which of
the following will be the 5" from the left
end ?
(A) S
(C) N

® T
(D) ©

45.

46.

47.

48.

How many pairs of letters are there in
the word TERMINATE which have as
many letters between them as in the
English alphabet ?

(A) None
(B) One
(C) Two
(D) Three

If in a certain code language ‘MARCH’
is written as ‘OCTEJ’, then how will
‘RETURN’ be written in that language ?

(A) TFUVSM
(B) QGSTQM
(C) TGVWTP
(D) TGRVSO

In the following series of numbers, find
out how many times 1, 3 and 7 have
appeared together, 7 being in the middle
and 1 and 3 on either sides of 7 ?

2931737771331738
971377173906

(A) 3 (B) 4
(C) 5 (D) None of these

In acertain code, ‘CERTAIN' is coded as
‘XVIGZRM’, ‘SEQUENCE’ is coded as
‘HVJFVMXV’. How would ‘REQUIRED’
be coded ?

(A) FJIVWVIR
(B) VJIFWTRV
(C) WVJRIFVI
(D) IVJFRIVW
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ii) AT g quT arfthes Tt

e W g s o= g0 3w & Ja @
TgR |

e ; faufa

(A) Y : I

(B) Tt : wram

(C) Gsft :-31He

(D) T : THA

‘2’ ¥ SUgF faehed gHT |
GREAT : 25 : : NUMBER : ?
(A) 36 (B) 38
cy 27 (D) 24

Freferfad # & fr gew g |
(A) et

(B) e

(C) faremn

(D) farfRa

158 JOURNEY ¥ Yeieh Tt 37t uiHTett
¥ 358 TR 3T Tt 27er & Wfcreentia fan
T R I U SEeA o S ol 8§
3% 91E T 911 378 ¥ wfaeenfia
a1 2, TR afeenfie s1ai =1 aviner #
w0 1 e S s 2, o feforfaa
U FH-TITR B 5972 7

(A) S

C) N

® T
(D) O

45.

46.

47.

48.

3168 TERMINATE ¥ 3% & fha W
%, o ofter & 3 & orem R Foraw sisht
TR ?

(A) 8 T

(B) ==

(C) @

(D) @

afe ush e 9T H  MARCH &1 ‘OCTES
frErsmar?, 91 RETURN =1 3t s &
& forar s ¢

(A) TFUVSM

(B) QGSTQM

(C) TGVWTP

(D) TGRVSO

Freferfad g gaend i am 1, 33
7 U ET AU R | 98 ot 39 v f 7w

T BT 3N T SHI 31 3| 7

293173777 1331738
571377173906

(A) 3 (B) 4
(C) 5 (D) T ¥ FE T

THFIH CERTAIN' &I ‘XVIGZRM',
‘SEQUENCE’ &1 ‘HVJFVMXV’ forat
ST e, 9 ‘REQUIRED’ =i fofe YR
eeg forar s ¢

(A) FJVWVIR

(B) VJIFWTRV

(C) WVJRIFVI

(D) IVJFRIVW
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49.

50.

ot

52.

Arrange the following words as per
order in the dictionary :

1. Necrology
2. Necromancy
3. Necropolis
4. Necrophilia
(A) 2,1,4,3
(B) 1,2,3,4
(C) 1,2,4,3
(D) 2,1,83,4

Find the missing number from the given
alternatives :

92 70 48
64 53 42
52 45 ?

(A) 36
(C) 38

(B) 40
(D) 42

Vishal is elder than Akash but younger
than Subhi, Yaksh is younger than
Deepak but elder than Akash. If Subhi
is younger than Deepak, then who is
the eldest ?
(A) Akash

(C) Subhi

(B) Vishal
(D) Deepak

In a row of students, Anil is 7™ from the
left while Jack is 18" from right. Both of
them interchange their positions such
that Anil becomes 21! from the left. How
many people are there in the row ?
(A) 38

(B) 39

(C) 40

(D) None of these

53.

54.

95.

56.

57.

A 0 T O T

Select the correct combination of
mathematical signs to replace ‘s’
signs and to balance the given
equation.

24 *34 *2 *5 * 12

(A) ++x= B) =++-—
C) =+-+ (D) ++=x

Pointing to a lady a man said, “The
son of her only brother is the brother

of my wife.” How is the lady related to
the man ?

(A) Mother's sister
(B) Grandmother
(C) Mother-in-law
(D) Sister of father-in-law

There are six children playing football,
namely P, Q, R, S, TandU.Pand T
are brothers, U is the sister of T. R is
the only son of P's uncle, Q and S are
the daughters of the only brother of R’s
father. Then how is S related to P ?

(A) Uncle (B) Sister
(C) Niece (D) Cousin

What will be the angle between the
minute hand and hour hand of clock
at9:307?

(A) 75°
(C) 105°

(B) 90°
(D) 120°

If 27 March, 1995 was a Monday,
then what day of the week was on
1 November, 1994 ?

(A) Sunday (B) Monday
(C) Tuesday (D) Wednesday



49.

50.

Y

52.
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i v531 3 YseRIY F AR
e FIT |

1. Necrology

2. Necromancy

3. Necropolis

4. Necrophilia

(A) 2,1,4,3

B) 1,2,3,4

(C) 1,2,4,3

(D) 2,1,3,4

fau T fapedt § | e T 9 R |
92 70 48
64 53 42

52 45 ?
(A) 36 (B) 40
(C) 38 (D) 42
IR § fowe SR W g A BRI R |

e | 7 BT 2 W SRR A TR | IR
4 A g BT R, NS T FAR 7
(A) 3TRRRT (B) Tavm=

(C) g+t (D) <

Torenfeiatt Y ues ufea #, 1fie s @ 79t
LR AFH A A 1812 | SFT AT EIH
HTE ¥ 39 TR 96d d ¢ foh 3IFa 9
¥ 21t qr9m | ufda # fras safda @ 7
(A) 38

(B) 39

(C) 40

(D) T A FE T

53.

54.

55.

56.

87.
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fu e Ffier T e o+ F R
1 el &6 % R Tiw @i w5
T T R |

24 *34 *2 *5* 12

(A) ++x= (B) =++—

C) =+=+ (D) ++=x

U AR 1 S 3T A T T S
AT 36 T |1 1 W T
TE 2 | 98 3ivq 39 =afa & e v
TEfRE R ?

(A) T\ &

(B) 3wl

(C) T™

(D) WYL H =

B:T= P, Q, R, S, T 3 U Tt @
REIPIMTARE, THTHAUR IPH
TETHIIHAT JA R ®, R fUareh soaiid
TEHIARAT QIR SR, AP H S For R
TEfE e ?
(A) I
(C) wefisht

(B) @A
(D) =Rl ==

9:30 WUl HiHe 3 e A+
T TR ?

(A) 75° (B) 90°

(C) 105° (D) 120°
Ifg 27 9T, 1995 HIAHIR 9T, AT 1 Taa,
1994 &1 qdTE &1 -1 &7 o1 7

(A) TEER (B) AMAR

(C) wTeEN (D) F¥&R
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58.

59.

Kavi walks Northward upto 10 m. He
tumns left and walks 30 m. Finally, he
turns left and walks 50 m. At what
distance Kavi is now from his starting
position ?
(A) 50m
(B) 10m
(C) 20m
(D) 90m

Raman starts from his house and goes
towards 15 m North, then he turns his
right and walks 30 m and again he tums
his right and walks upto 30 m to reach a
temple. In which direction is the temple
with respect to Raman'’s house ?

(A) North-West

(B) South

(C) South-East

(D) West

Fiveboys A, A,, A,, A, and A, are sitting
on a stair in the following way :

1. A,is above A,.
2. A,is under A,
3. A,isunderA..
4. A, is between A, and A,

Then, who is at the lowest position of
the stair ?
(A) A,

(B) A,
C) A,

(D) A,

61.

62.

N 0 O A

Eight persons A, B,C, D, E,F,GandH
are sitting arc;und the circle as given in
the figure. They are facing the direction
opposite to centre. If they move upto
three places anti-clockwise, then

North

South

(A) B will face West.

(B) E will face East.

(C) H will face North-West.
(D) A will face South.

In a certain code language,

1. ‘pit na sa’ means ‘you are
welcome’.

2. 'naho pala’ means ‘they are very
good'.
3. ‘ka dala’ means ‘who is good'.

4. ‘od ho pit Ia’ means ‘they
welcome good people’.

Which of the following means ‘people’
in that code language ?

(A) od
(B) la
(C) ho
(D) pit



58.

59.

60.

47-

Hfd 10 X I F N =T 2 T
a1 @ 3R 30 HiA Tl 2| 3fqq: a8
TR YA 50 Wi I 2| F 39 T
AR foig & Tt 2 7

(A) 50 Hi&X

(B) 10X

(C) 20X

(D) 90X

T 3T W Y HF 15 Hiet I H 3
iTar 81 T ST 3R gEa 30 HWet Jeran
2, TR SR g 30 et I T iR o
TEEAT S | T % T H Hi e R H R 7
(A) IR-ufTw

(B) afero

(C) efemr-

(D) diTem

TEASH A, A, A, A, 3T A_TH Hidl |
ﬁﬂ'@ﬂ'ﬂ‘a%%:

1. AFTRARI

2. AFTRARI

3. AFTRARI

4. ASA FFEHA R
A TR PR 7
(A) A,

(B) A,

C) A,

(D) A,

61.

62.
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IR AT A, B,C, D, E, F, G 3 H =
¥ @ SER E gu FH IR AR ASE 1
&g ) fgla e i @ w23 ¥ | AR
I e i foratia feen o = o o Sed

g,

3L
- & B
D

i E
gigqor

(A) BHFIH@ Tfvem Ht IR |

(B) EF1H@ T il I 2w |

(C) H &1 qE So-ufeam i TR |
(D) A Y@ Ifequr it 3T |

e ffTed e wmrH
1. ‘pit nasa F 3 ‘you are
welcome’ 2|

2. ‘naho pa la’ 137 ‘they are very
good' 2|

3. ‘ka dala %137 ‘who is good’ &
4. ‘od ho pit la’ 1 31 ‘they welcome
good people’ 2l

Fraforfea # @ fae o 36t e v &

‘people’ ® 7

(A) od

(B) la

(C) ho

(D) pit
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63.

64.

Assertion (A) : In India, the judiciary
is independent of the executive.
Reason (R) : Judiciary favours

the government and helps in the
implementation of its plans.

Choose correct alternative for the above
Assertion and Reason.

(A) BothAandRaretrue and R is
the correct explanation of A.
Both A and R are true but R is
not the correct explanation of A.

(B)

()
(D)

A is true but R is false.

A is false but R is true.

I.  The inter-club cricket toumament
scheduled for the week was called
off.

Il. Heavy showers are expected in the
city area during the next forty eight

hours.
Choose correct alternative for above
statements.
(A) Statement | is the cause and
statement |l is its effect.

Statement |l is the cause and

(B)
statement | is its effect.

(C) Both statements are independent

causes.

(D) Both statements are effects of

independent causes.

65.

66.

67.

68.

69.

70.

Statements : Some dogs are cats.
- All cats are pigs.
Conclusions : |. Some cats are dogs.
Il. Some dogs are pigs.
Choose the correct alternative for the
above statement and conclusion.

(A) Only conclusion | follows.

(B) Only conclusion Il follows.

(C) Both conclusions | and Il follows.
(D) None of the above

If E =5 and EVEN = 46, then ENTER =
(A) 62 (B) 52
C) 72 (D) 42

Replace the question mark (?) in the
series with correct option.

4,5,7,11,19, 35, ?
(A) 67 (B) 76
(C) 55 (D) 45

Find out the wrong number in the
sequence.

4,5,7,10, 14, 18, 25, 32.
(A) 7 (B) 14
(C) 18 (D) 32

Town is related to village in the same
way as urban is related to

(A) City (B) Metropolis
(C) Rural (D) Semi-urban

In a row of boys, A is fifteenth from the
left and B is fourth from the right. There
are three boys between Aand B. C is
just left of A. What is C's position from
the right ?
(A) 9"
(C) 12m

(B) 10"
(D) 13"
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TR (A): 9HA H, HRTAHT d

TR WA 2

HROT (R) : “ATIART, HTHR HT T At

? 3R 3Gl TRl I FEifEd F= A |

TR A 2

Iugad ST 3R FRUT 2 e freew

g

(A) A 3R R 3HI A & 3N R, Al wd
AT R

(B) A 3R R 3HI d & W R, A H&l
T e B

(C) AT 2 Wy R 3 2|

(D) A3EAEWgREIARI

. TR -Fs forche gt S b 30 woame
% foru fuifa o, e = e man
2l

Il. 3T 48 &2 § TR | R |TRST i
KL

I FOH o el fahed gy

(A) FUH | RO 3T FHE || IdHT
a2

(B) Y | FHRUTR AN FHYA | IgT
a2l

(C) BFT U Wad FUE |

(D) THT U WdT FHOT & T )

65.

66.

67.

68.

69.

70.
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HYA : TS T, Wi |
oefi farfeerat, gan # |
Frerd « | g feaat, 39 E |
Il. FB F, GIWE |
I F 3 Fewd 2 wEt e
|

(A) Faa Fey | e AT |
(B) e e || STEo e R |
(C) BWT Y | 37N || STET A & |
(D) ST A | i T

Ife E = 5 3N EVEN = 46 2, ATENTER =
(A) 62 (B) 52
(C) 72 (D) 42

sEe # v g (7) 1 9t fawen @
yfteenfia =t |
4,5,7,11,19, 35, ?

(A 67 (B) 76

(C) 55 (D) 45

ST T TTeTd AT F1d & |

4,5,7,10, 14, 18, 25, 32

(A) 7 (B) 14

(C) 18 (D) 32

T ¥ T 3 YH Tefed 2 9 el A
TEREa e |

(A) TR (B) WM

(C) Tmur (D) =r4-wr=d

A o) U Ufae H, 19 § A Ugeat @ 3N
TR Y BHUTR | A3 B A dHasH
FIAFTATE CR | CHISW T FH-TT

MR 7
(A) 9t
(C) 124t

(B) 10df
(D) 133t
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71.

72.

73.

74.

75.

76.

‘Sympathy' is related to ‘Virtue’ in the
same way as ‘Cruelty’ is related to
(A) Vice (B) Kindness
(C) Emotion (D) Animosity

Choose the word which is least like the
other words.

(A) Polyester
(C) Terylene

(B) Cotton
(D) Nylon

In a certain code, the word HAND is
written as SZMW, then what will be
the code of MILK in that code ?

(A) ORNP (B) PNRO
(C) NROP (D) RNOP

If ENGLAND is written as 1234526 and
FRANCE is written as 785291, how is
GREECE coded ? ’

(A) 381171
(C) 832252

(B) 381191
(D) 835545

A bird shooter was asked how many
birds he had in the bag. He replied
that there were all sparrows but six, all
pigeons but six and all ducks but six.
How many birds he had in the bag in
all ?

(A) 9
(C) 27

(B) 18
(D) 36

A student got twice as many sums
wrong as he got right. If he attempted
48 sums in all, then how many did he
solve correctly ?
(A) 12
(C) 18

(B) 16
(D) 24

78

78.

79.

80.

There are deer and peacocks in a 200.
By counting heads they are 80. The
number of their legs is 200. How many
peacocks are there ?

(A) 20 (B) 30

(C) 50 (D) 60

Five bells begin to toll together and toll
respectively at intervals of 6, 5, 7, 10
and 12 seconds. How many times will
they toll together in one hour excluding
the one at the start ?

(A) 7 times (B) 8times

(C) 9times (D) 11 times

If ‘A $ B’ means ‘A is the father of B,
‘A x B' means ‘A is the mother of B/,
‘A @ B’ means ‘A is the wife of B’,
then which of the following means
‘M is the grandmother of N’ ?

(A) MxTEN@R

(B) MxTSR@N

(C) MxR$T@N

(D) MxR@T@N

If it is possible to make a meaningful
word with the 3, 4" 6" and 12" |etters
of the word BREAKTHROUGH, which
of the following is the 3" letter of the
word ? If no such word can be formed,
give ‘N’ as the answer and if more than
one such word can be formed, give ‘D’
as the answer.

(A) E
(€) N

(B) H
(D) D
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‘T’ ¥ “merfd’ 3t yER TEfa ?

o8 v R | AR |
(A) =TT (B) =g

(C) 9@t (D) ot

I8 158 AT SN 31 YIal § Tl HH
e ? |

(A) TTeTeE (B) Hd (F1eA)
(C) el (D) ARIH

ws fifeera g2 ¥, ys¢ HAND 1 SZMW
foran wmar 2, & 3¢ w2 # MILK =1 30
TG H ¢
(A) ORNP
(C) NROP

(B) PNRO
(D) RNOP
Ife ENGLAND T 1234526 31K FRANCE

w1 785291 for@t a1 2, 91 GREECE &1
F FEE H ¢

(A) 381171 (B) 381191
(C) 832252 (D) 835545
e Ferdmm & g1 T 3us O | e

vefi & | 3 IW o T 3E tm W &
e gt fufe off, ©: % s oft
F ¥ I H: o AT O S o | Ik
T S H et T waft 9 7

(A) 9 (B) 18
(C) 27 (D) 36
us el % forae waTa Bt 9 39 QA

T 9 | 973 391 $d 48 T A T, a1
3o o T W v TR

(A) 12 (B) 16
(C) 18 (D) 24

77.

78.

79.

80.

MKG-XXVGENPS/1T/06
s R R i d | R
TEI180% | 395 WH TEAT200 8 |
FRmd ?

(A) 20 (B) 30
(C) 50 (D) 60

6, 5, 7, 10 31 12 Tehe F A W St
2 | A1 AT R BEH A TF g H e a1
TS T Sl ¢
(A) 79K
(C) 99K

(B) 89N
(D) 119K

e ASB F IR A BF e,
‘AxBHE IR A BFITEIR,

‘A@B 3R A BRI U,

@ Fraferfaa § & T ot & 7 ‘M, N
#igEie ?

(A) M*T$SN@R

(B) MxT$R@N

(C) M*xRST@N

(D) MxR@T@N

Ife w158 BREAKTHROUGH % i,
I, BS TN THEd A& o FHT U TRIF
IIe2 ST EE B, 1 39 Vs &1 |
e FAT RN ¢ A WET P w1sg T =
Tk, A1 I N’ difore 3fk afe vE v o
3fereh 1o 5 Hehd 8, A1 W D AT |
(A) E (B) H

(C) N (D) D
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81.

82.

83.

84.

-29.

ili) Arithmetical and Numerical Ability

If adulterated milk of 20 litres contains |
6% litres of pure milk, then the ratio of

pure milk to water in the mixture is

(A) 11:5 (B) 10:3

(C) 5:11 (D) None of these

If X 510 is divided among 3 people A,

B and C in such a way that ‘A’ gets %

of what ‘B’ gets and ‘B’ gets % of what

‘C’ gets then B’s share is (in rupees)

(A) 60 (B) 90
(C) 180 (D) None of these

If 6 chickens are worth 3 hens, 7 hens
are worth 4 geese and 5 geese are worth
2 peacocks, the price of 7 chickens
when a peacock costs 20 dollars, is (in
dollars)

(A) 16

(B) 12

(C) 315

(D) None of these

Mr. A is ahead of Mr. B by 20 km and
both are walking in the same direction.
If A is walking at 4 km per hour and B
at 5 km per hour, the number of hours
required by B to overtake A is

(A) 18 hours (B) 9 hours

(C) 100 hours (D) 20 hours

85.

86.

87.

88.

89.

If a ladder of 5 m long reaches a window
3 m above the ground, then the distance
of the foot of the ladder from the base
of the wall is
(A) 4m
(C) 8m

(B) 3.5m
(D) 2m

Mrs. Jaya bought 4 sarees. The average
price of sarees being X 150. If the average
price of 2 superior sarees isX 170 and the
prices of remaining 2 sarees is in the ratio
7 : 6, then price of costliest saree among
the remaining 2 sarees is

(A) X160 (B) ¥170
(C) 140 (D) None of these

A and B can do a piece of work in

12 days; B and C can do the same
work in 15 days and C and A take

20 days to do the same work. The
number of days taken to complete the
work if all 3 work together, is

(A) 12 days (B) 10 days

(C) 9days (D) None of these

500 workers can finish a work in 8 days.
The number of workers required to
finish the same work in 5 days is

(A) 800 (B) 700

(C) 600 (D) 900

A class room is thrice as long and four
times as broad as another. The ratio
of their areas is
(A) 1:11

(C) 112

(B) 2:23
(D) 3:14
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i) ST U UEATeHS TRl

s fieTeregdd U & 20 St 5 B%Fﬂ?_'{
YRR, Afm i g HETa
I B

(A) 11:5 (B) 10:3

(D) T A HE T

eI 510 FI3AFTA, B3R CHER

mﬁ%lmm%maﬁa%%@m%

B CcH A | e, B
FTAF R (FATH) 4
(A) 60
©) 18

©) 5:11

(B) 90
(D) T UHE T

Ife 6 g himd 3qfTaT, 7 gfTaThIhma
4341 et 3T 5 291 i hma 2 7R ot
2, AR ww AR A fima 20 TR 2, A7 I
FHrFma s (SR H)

(A) 16

(B) 12

(C) 315

(D) T AHE Tl

ot BH i A 20 foFt o1 & 2 SFT
AfEnadsar e | IRk Aol 4 fsft
ufg e 3t B Frofa 5 Tl wfa ae 2, &
AT 3 e & foe B gro aifea w2

F TR
(A) 18¥2 (B) 9%
(C) 100 (D) 205

85.

86.

87.

88.

89.

R gm A 3 W, T o Rashi m T
5 Tt el Tl TEaelt B, A1 Siaw o MR

A Hid & foct R Fr 2
(A) 47, (B) 3.54.
(C) 8Hi. (D) 2.

sfiet S 4 Tifeat R | S 1 Shad
A% 1502 | Afe 2 e |fedt &1 3i|a
T % 170 ® 3 St @ Tfet 1 g5
7:6 % U 2, Arat 2 arfeaid vt

ISR

(A) %160 (B) 170

(C) 2140 (D) T A FR T&I
(g A 3T B U% %1 &1 12 fei o Tahd

%, B 3R C 3¢ %1 1 15 T H o dehal
§, C 3 A 3t wd &1 20 i § o wapat
2 | 3fe 991 v T FE F@ 2, o R
fAidaed e S 7

(A) 12fA (B) 10T

() 9f (D) ¥ A FE

500 FE T F 1 8 Tl H W Fehdl
& | i & 5 T 8 g o fore fhem
TG h! STEvAHAT BFl ¢

(A) 800 (B) 700

(C) 600 (D) 900

U & &l TS G e @ o 7om 3R
ST TR IO | 3 &Thel] 1 ST
(A 1:11 (B) 2:.243
C) 1:12 (D) 3:14
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90.

9.

92.

93.

In a survey of 5000 people, it was found
that 2800 read Indian Express and
2300 read Times of India, while 400
read both. The number of people who
neither read Indian Express nor Times
of India is

(A) 100

(B) 300

(C) 200

(D) None of these

The fractional form of the recurring
decimal 0.131313 ... is

13 13
(A) 100 ®) 75
13 13

25 is divided into 2 parts such that'the

sum of their reciprocals is % then the
numbers are

(A) 9,16
(C) 11,14

(B) 15,10
(D) None of these

If 2 —2¥-1 = 4, then x* is equal to
(A) 7 (B) 3
(C) 27 (D) 9

For 3 months, the salary of a person
areintheratio2: 4 : 5. If the difference
between the product of the salaries of
first 2 months and the last 2 months is
X 4,80,00,000, then the salary of the
person for the 2" month will be

(A) 4,000 (B) ¥8,000
(C) 6,000 (D) 10,000

95.

96.

97.

98.

99.

100.

000 00 O 000 0
The value of -JG + ,/6 + ,/6 +..00 I8
(A) -3 (B) 2
(C) 3 (D) 4
The minimum value of the function

X>=6x+10is
(A) 1
(C) 3

(B) 2
(D) 10

The roots of the equation 3x2 —14x + k=0
will be reciprocal of each other if k =
(A) -3 (B) 0

C) 3 (D) 14

The number of triangles that can be
formed by choosing the vertices from a
set of 12 points, seven of which lie on
the same straight line is

(A) 185 (B) 175

(C) 115 (D) 105

A garden has 6 tall plants in a row. The
number of ways 5 children stand, one
in a gap between the plants in order to
pose for a photographer is

(A) 24

(B) 120

(C) 720

(D) 30

If 8" term of an AP is 15, then the sum
of its 15 terms is
(A) 15
(B) 0
(C) 225
225

Oy =~
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5000 ST & TA&0T ¥, Tg IR T TR
2800 T T ved & 37N 2300 TEH
3T fear Jed & 59 & 400 2HT wgd B
I AN G S A A S e A
(A) 100

(B) 300

(C) 200 .

(D) ¥ AFE &I

AEdl 29HeEE 0.131313 ... &7 =
w2

13 13
(A o5 B 15
13 13
(C) 5 D) g9
25 %1 31 o ¥ 38 v oo o

T R Sl 3k SRRl T AR %%,a’ra's’
e &

(A) 9,16 (B) 15,10

(C) 11,14 (D) =T T FE T
e 2x —2x-1 =43, A x* F I 2
(A) 7 (B) 3

(C) 27 (D) 9

3R F fn, R F AT 2:4: 5
% IUE ¥ B IR WA 2 W & A7 &
TOR 3TN HqH AR % AT & TIHEA
% o1 %1 37 < 4,80,00,000 2, A G TR
% ot safes 13 e

(A) %4,000 (B) 8,000

(C) ¥6,000 (D) % 10,000

95.

96.

97.

98.

99.

100.
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J6+,}6+,/6+... o FTHHE B
(A) -3 (B) 2
(C) 3 (D) 4
T X2 — 6 + 10 T FaW TH 2
(A) 1 (B) 2
(C) 3 (D) 10
FHIEHTT 3% — 14x + k = 0 % 5l T GEL I
g B AL k =
(A) -3 (B) 0
© 3 ©) 14
R o Pyt ST S EeR € S 12 faige
% Tyl 3 9 g o R, 39 et
o ¥ Hd g9H & W 2
(A) 185 (B) 175
(C) 115 (D) 105
TH T H 6T JH TR E IR A E | T
o & fore w2 2R 2y 3 & offe 5 w==l
FI @S FA F AT 6 TR
(A) 24
(B) 120
(C) 720
(D) 30
Ife Uk TR Ao T8 IT UG 158, AT30F
15 931 1AM 2
(A) 15
(B) 0
(C) 225
225
0] =
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101.

102.

103.

104.

105.

In how many years, the simple interest
on a certain sum be 0.125 times the
principal at 10% per annum ?

1

A T

years
(B) 1% years

(C) 2;{ years

3
(D) 2- years

4
If the difference between simple interest
and compound interest is T 11 at the
rate of 10% per annum for 2 years, then
the sum invested is, (in rupees)
(A) 1,200 (B) 1,100
(C) 1,000 (D) None of these

If a sum of money doubles itself in
15 years, then the number of years in
which the sum becomes 4 times itself
at certain rate of S.I. is

(A) 42yrs (B) 43 yrs
(C) 45yrs (D) 60 yrs

If 144 is divided into 3 parts which
are in AP, such that the largest is
twice the smallest, then the smallest
of 3 numbers is
(A) 48

(C) 13

(B) 36
(D) 32

A bag contains Z 187 in the form of
1 rupee, 50 paise and 10 paise coins
in the ratio 3 : 4 : 5. Then the number
of coins of 1 rupee, 50 paise, 10 paise
are respectively

(A) 102,136, 170

(B) 136, 102, 170

(C) 170,102, 136

(D) None of these

106.

107.

108.

109.

110.

Three years ago, father was 4 times
as old as his’son and after 5 years he
will be 3 times as old as his son. The
present age of the son is

(A) 18 yrs (B) 19yrs

(C) 21yrs (D) None of these

A certain number is 4 times the sum of
the digits. If 18 is added to the number,
the digits will get interchanged, then the
number is
(A) 24
(C) 36

(B) 42
(D) 18

The size of the largest square tile to
floor a room of length 6 m 50 cm and
breadth 9 m 15cm is

(A) 20 sg.cm

(B) 25 sg.cm

(C) 36 sg.cm

(D) None of these

: a-
If smﬁ:v—g,then tan 6 +sec 6 =
a+b

a+b

a
@ b a-b

a
(©) £

The length, breadth and height of a
room are 5m, 4 mand 3 m respectively.
The cost of white washing the walls of
the room and ceiling at the rate of ¥ 7.50
per m?is

(A) 21,010

(B) ¥555

(C) 750

(D) None of these

(B)

(D) 1



| VT 0 00

101.

102.

103.

104.

105.

foram aut #, us TfST W AT S 10%
fer <t QR 0.125 O &Y ST ?

’
(A) 12 L

3
8) 13 T

1
(C) 2Z L

3 %
(D) 2Za1§

I TR SIS 3R TG 59N & S|
FT IR 10% I F @B 2995 T 11
?, A1 Fawr il 8 URT ® (1 H)
(A) 1,200 (B) 1,100

(C) 1,000 (D) 378 T R T

Jfe Tk TRT 15 I8 § T I IFHT S Al
2, 1 forem i o 9 TSy A S U
Fifre t w A S SR Er S ?
(A) 424 (B) 4394

(C) 4538 (D) 60aY

Ife 144 1 d= AT A SferSaT ST EEE
Fofi 7§ 2, 30 YR o oed ST oed B E
TR, A AHT H T B wE 2

(A) 48 (B) 36
(C) 13 (D) 32
TH A 1 798, 50 39 3% 10 W e

3:4:5%IFIAHEIA 187, AT 1 T,
50 ¥, 10 Y et e i ae e

(A) 102, 136, 170

(B) 136,102, 170

(C) 170, 102, 136

(D) T B HE

106.

107.

108.

109.

110.
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AT, fUaT 3TH gl ST & 47O 3Ty
%1 o1 311 5 99 912 98 37 T3 61 I &
379 ST FTEFT | 3 1 TdH g R

(A) 1899 (B) 193§

(C) 214 (D) T BHE T

Ue e T 35 37 o AFT I AR IO
? |3 Sm e 18 SRISETR, A1 3%

YT TIH 3796 & &ec] oid 8, 41 9T e
(A) 24 (B) 42
(C) 36 (D) 18

e 6 1. 50 2.4, 3 eE 9.

15 3.1, & FHL H w oTH & fore ged
TS TR H o1 Faar 2

(A) 20 @i

(B) 25 A,

(C) 36 a1 Tl

(D) HAFE Tl

.
aft sing = 20 2, dATtan 0 +sec 6 =
a+b

a+b

a
) a-b

a
© b

T L 6 GO, SISk 3N FEE FhH:
5., 4 . 3 37, 2 | = awi 3R
B %! AR ! dhmd 2 7.50 I 2.

wAR

(A) 1,010
(B) Z555

(C) 750

(D) T A T

(B)

(D) 1
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T

112.

113.

114.

115.

A village, having a population of 4000,
requires 150 litres of water per head a day.
Ithas atank measuring20mx 15mx6m
dimensions. The number of days water
of this tank will last is,
(1m?® = 1000 litres)
(A) 12 days (B) 5days
(C) 2days (D) 3days
The volume of a sphere whose surface
area is 154 cm? is, (use = %)
539 539 3
——cm i
A =3 B) >om
(C) -6-.:-;—1cm3 (D) None of these
For every positive integer n, 7" — 3" is
divisible by
(A) 3 (B) 5
(C) 4 (D) 10
If 1Q of a person is given by the formula
Q= -’g% x 100 where MA is mental age,
CAis chronological age. If 80 <1Q < 140
for a group of 12 year old children, the
range of their mental age will be
(A) between 9.6 yrs to 16.8 yrs
(B) between 9 yrsto 15 yrs
(C) between 11 yrsto 13.5 yrs
(D) none of these
A fair coin with 1 marked on one face
and 6 on the other and a fair die are
tossed together. The probability of
gettinga sum 3 is
2 s
A 3 (B) s
(C) % (D) None of these

116.

117.

118.

119.

120.

There are 4 men and 6 women on the
city council. ¥ one council member is
selected for a committee at random,
how likely is that it is a woman ?

2 3
A = By
A 2 (B) =
1 3
©) = D) ¢

The perimeter of the triangle formed by
the points (3, - 1), (5,2) and (- 1, 2) is
(A) 11++/13 units

(B) 5++13units

(©) VA3 units

(D) None of these

Value of sin? 63° + sin227° is
(A) 0

(B) 2

() 1

(D) None of these

If sinx + sin®x = 1, then cos?x + cos*x =
(A) 2

(B) 3

(C) 25

(D) 1

If in a right angled triangle, the difference
between the two acute angles is 20° then
the smallest angle in the triangle is

(A) 20°
(B) 15°
(C) 35°
(D) 45°
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112.

113.

114.

115.

4000 i SHEEAT 91 U TG H, U A &
Toru wfa =afaa 150 et ot 6t savassar
2 13@TE # 20 /1. x 15 #. x 6 /. &t
R I UE TH R 139 O HAH! o
fem ae6 = 7 (1 7. = 1000 #HiX)
(A) 12T& (B) 5f&

(C) 2fA (D) 3f&

M &1 J31 &%t 154 Atz B, 13|

Tt 3T AT 8 (n:27_2)

(A) 53?9%.#1.2 B) ?ﬁ:ﬂ.&

© Fade (o) AR

T YR qOT1% n & foTT, 70— 3°

_ zmofwmsaR
(A) 3 (B) 5
(C) 4 (D) 10

aﬁqma:%wsoqglaz“—é%xwo

FHT f&am T @, St MA wHiEs 31 2,
CA#FIfrE g 2 | ARk 1298 AP+
S=dl % T GYg & 1o 80 <1Q <140
2, 11 37! Wi o1y <t Aoft gt

(A) 9.6a4F 16.8 a9 o=

(B) 9T 1599 & e

(€) Ma¥F135a8F =

(D) 3T AR Tl

ue 1 foeent o ge w1 R R ol
all AR 6 TaFed © i w = ar a
IDBTATSIA R | 3 1 IFT 3TH i Ml 2

2 5
A 3 B) 15
(C) % (D) T AFE T

116.

117.

118.

119.

120.
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TR 9fe § 4 37eHt 3i 6 A @ | IR T
ftye e A 2g AT ST 8 AT
R, A1 30 U Wi 814 ohl WTidehar &
A 2 ® 3

5 10

1 3
©) — (D) 5
fagedi (3, - 1), (5, 2) 3 (- 1, 2) T
e A ofifar?

(A) 11+13 TFE

(B) 5++13 3HE

(C) V13 3%

(D) T & HE T

sin? 63° + sin? 27° FIAF 2
(A) 0

(B) 2

C) 1

(D) T 8 HE T

IfE sinx + sin = 1, A cos2X + COS*X =
(A) 2

(B) 3

(C) 25

(D) 1

T G S H, 31 = 101 o 1=
3 20° 2, A B 1 T8 BRI 0 2
(A) 20°

(B) 15°

(C) 35°

(D) 45°
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121.

122.

123.

124.

125.

iv) Hindi Language and Comprehension

&= wmw s =y g
T4 - ShTfaaT=es g : T o 126. TTH ¥ HHET e St T 2 ?
(A) STTfderTees @3 (A) ' B) W@
(B) =ufFaaT=s |3 (C) e (D) Toraw
(C) WEaEE T
. 127. 331 : TS ; : A :
D) (A)dT (B) 3MT .
(D) (A) T (B) A) A ® W
ITEHT, WA, T, T 39 Tl A & (C) aram (D) T=
Sffaa=s 9T ;
Ghiad ' 128. 3 4 | faseq 9T |
(A) ITEFHR (B) STHa
(C) T (D) THq (A) srfaeh (B) 3faf
(C) 3Tty (D) 3Tdteft
AT ST T 36 I T A §U 8 _ .
&) TEERT (@) W T 129. ?:?me:)ﬁ;:?ﬁ?m%?
(C T (D) TA T
e K ‘ (C) werd (D) forg
T AT a1 I STe o ; o O ;
) 74 *) Y"Ef 130. 3@ I]| . dEF TR |
) @ @) ¥ A
3) ) f& (8)
3) T q) & (C) ST
L 2) (D) wTfa qen IfaaaT=s aFT
@ M 3 3 3 131. WA TR WIwa i =’
A"T & @ T _ TETHR |
®F ¥ T T @ (A) TESETEH (B) Fam==
©9 & T @ T (C) Fvagams (D) Teua=H
U 132. ‘g W= =T e w
ST AT R S T 36 GRR T e | o2 |
(A) FOAHE (B) & ST (A) FEEEE  (B) TUEEH
(C) Af@EM (D) TR FET (C) Hehqarieh (D) TRHTIETSRS




133.

134.

135.

136.

137.

=-31-

foraes g ot wmoft o geml w1 e o
e aed, 3™ Fede |
(A) Torsgm (B) wfd

(C) == (D) FRH

T | : 37 o = |

T N - B0 & D B |

I ST I H 3T sk b I
¥ fornfarsor 3 w0 8 WEa R 7

(A) =T 18

(B) &= I ¥

(C) =4 | 3 11 [T H

(D) I | 3R | BT H ot 7=

ST H TR T B uaT i
A H foreTgal Waa a1, 98 . FE

TR |
(A)
(C) T9 R

(B) I
(D) i

T 3 Hed 1 A : FHERS ¢ Ii‘_r@__
el o o =l

(A) FHFTE (B) HYEH HNH
(C) FawFReh (D) FUFRH
3 fodim vrsgi 1 e forflau |
3) I %) FoN
) HHA g) W
3) 3&d ) g
3) ™ ") BN
3) A g) fofta
A W ¥ T3
AT F T W H
BT T F W@ H
€% 8 T ¥ W@
M@ & T 7T H

138.

139.

140.
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‘S T15G T AT I 2
(A) ST
(B) STfHehT
(C) ST
(D) S

Ghﬁ(%ﬁaq
v daE IR0 A
H) UEEE %) TE HHH AR
ey
) TIEEE
oSy
3) uiHmEES
ferro
3) AR
farsimoy
A e
(A &
(B) @
C) =
(D) =

Q) WA

) 39 T E
9= 9 faemfi 2
) a1 el o

o 6 o o
g o d4 o
9 o4 8 & w

TR | : B9 AP fooedt § i o |

TR | - g3 3791 9 T o |

SR TR % STE et § e
T 2 7

(A) T | STHHS B, T || T o
(B) 9T | T B, T || ITFHE ©
(C) I | 3N TH || SHT GFh &

(D) I 1| 3T | SHT IS B
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141, ‘greft’ 3158 1 g w92 148. g fflu ;
(A) et (B) wwi %) s T %) e
(C) Emiid (D) Fmfm ) TEETE @) wfmw
142, REGEBAAT 39T R0 | 3) SEEieE ® M) u-0A
(A) TH (B) < %) WRIGHE  H) Tame
©) (D) o1& R S
143, T A e e TE TE R 7 A ® T o® ¥
(A) AT HeFHeh A e AHT JFR ®" % W @
FfFrefitwiam . ©Ow 1§ %
(B) HgaT=a TN N ITHF SH] THR
51 et B M R

(C) TFHaT=H Fac] Ui sl H erT e 149, e ffau -
(D) WA A IFHS AR H BT %) R =) if £

144, ‘mmﬁrﬁﬁa@%w’wmﬂ o) gfgafa @) fift + 72
 frafasmo JEFT | 3) auEfy ) g + A

(A) TR (B) fifa G Lger g,
(C) TIH (D) Fd s
F oM@ 3 B
145. ‘greft’ se & AT TR AT T T @
(A) et (B) ®TRr
B) Wil@ot
(C) et (D) =Eifd ©)
© @ ¥ & 7
146. ‘SaU Y758 %1 SgaSH €I D% T @ W
(A) s=L (B) =X
(C) =T (D) THAFE T | 150. =rar: fUar: : d .
147. 5@ o9 o 92T 158 ;Y9 2T R (A) e
=  TmE R | (B) Sterit
(A) T (B) =& (C) T

(C) wEhife (D) I . (D) ¥
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151.

152,

153.

154.

155.

Fglife THE § FHE1 98 TIH
BrTR ?

(A) &

(B) % ot 7 warH e B
(C) &|u

(D) BHITE

qq + et =
(A) it
(B) T
(C) dcdieht
(D) dfesHt

‘B I WIRRE I8 99

TR

(A) T TAHH
(B) 3190 I

(C) wfere Idmm
(D) TRT IA9H

ST &R AT T e & S a2,
TR 21

(A) IFEH

(B) ST

(C) IgER
(D) ot

el feed g |
(A) Hiagh
(B) Faft
(C) wfafy
(D) FaTH

156.

157.

158.

159.

160.
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NS A 9IRGB EaFar foaR 5| 9

1 for T s et Tera e

(A) SafaaT=F T, gieerT, Sga=r,
ETICAtED

(B) Sfcerrares T3, Yfeet, e,
Elcates ‘

(C) =afeaT=e T, Jieo, TehaeH,
TR

(D) cafddaTae T, gieohT, Thae,
FARRIS

‘et ST vl feree B
(A) T+ +FA+H+HA
B) Z+HA+A+H+ A
C) F+A+A+A+H+A
(D) F+HA++3A+YH

o 9w 71 93 @ ot sfa ot & o
S 21 et § & U T ST d 9
TR, GEEds |

(A) SfaaTae

(B) =afFqar=s

(C) VEaT=F

(D) =E

REER LR R EICRIDIE M A RCHL RS
(A) &

(B) W

(C) Tieat =i

(D) fowrmor=Ei?

“grear for Y TEETee wET @ ued, @
‘o1 T i T T e

(A) et

(B) THeAEL

(C) @I

(D)



MKG-XXVGENPS/1T/06 1T 0 O

v) English Language and Comprehension

st wren s Ay :

Use appropriate preposition to fill in the 166. We should visit the hills,
blanks : (A) shouldn’t we ?
161. Our house is the (B) shall we ?

supermarket and the school. (C) should we ?

(A) among (D) shan'twe ?

(B) between

(C) in Choose the sentence which has an errorin it

(D) at 167. (A) We had a brake between classes
162. The bird flew  the (B) The cold air affected him greatly

window. (C) He succeeded in his attempt

(A) against (D) No one likes his pride

(B) at

(C) -off 168. (A) |am going home

(D) down (B) She ran into the room crying

: , : . (C) I have been waiting from three
163. My friend is his way to 6
urs

Dehradun. D) H i 3 e

(A) of (D) He agreed to my deman

(B) at Choose correct one word substitute for the

(C) on following :

(D) in

169. “A strong and fast moving stream of

Add suitable question tag : water”
164. There aren’t any animals, (A) tripping

(A) arethey ? (B) hustling

(B) aren't they ? (C) torrent

(C) arethere? (D) wisps

(D) do they ? .

170. “Someone who is very brave and

165. No one saw me, willing to take risks”

(A) dothey? (A) gallant

(B) didthey ? (B) coy

(C) canthey ? (C) devotee

(D) cantthey ? (D) none of the above




Choose the appropriate verb form and fill in
the blanks :

177,

172

173.

| was sure that | him
before.

(A) had met

(B) am meeting

(C) meet

(D) met

When | saw the vase on the
website, | knew it was exactly
what |

(A) looked for

(B) look for

(C) had been looking for
(D) have looked for

We a party next Saturday.
Can you come ?

(A) ’reto have
(B) ’re having

(C) have
(D) 'l have
Choose appropriate modal/semi-modal to fill
in the blanks :
174. me to get you some
water ?

7S

(A) Would you like
(B) Should you like
(C) Shall you like
(D) Will you like

Walking under a ladder
be unlucky.

(A) is suppose to
(B) should
(C) ought to
(D) is supposed to

176.
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It's the third time she’s been skating
this week. She

really enjoy it.

(A)
(B)
(©)
(D)

must
should
ought to
had better

Fill in the blanks with appropriate preposition :

:

178.

179.

The Concert features,

others, Karl Frisk and the Johnsons.
Their music is still very popular
teenagers.

(A) between, among
(B) between, between
(C) - among, between

(D) among, among

What’s the chance

five heads when you toss a coin five
times ?

(A) of getting

(B) to get

(C) of get

(D) get

She tried to
(A) talk me the plan out of

(B) talk me out of the plan
(C) talk out of me the plan
(D) talk out me of the plan
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Fill in the BIAMKS With corfect phrase from the
options :

180. He is sure to
mob.

(A) work up
(B) work out
(C) work down
(D) work in

the

181. He
(A)
(B)
(C)
(D)

his father.

takes up
takes in
takes after
takes off

182. The dog tried to
(A) get on with
(B) get out
(C) getat

(D) get under

me.

Select the correct proverb which has the given
meaning :

183. “Be safe and cautious and don't stake

everything on one particular thing.”

(A) Don't put all your eggs in one
basket

Every cloud has a silver lining
All that glitters is not gold
There is no smoke without fire

(B)
(©)
(D)

“People of the same sort will be found
together.”

(A) A man is known by the company
he keeps

(B) Birds of a feather flock together

(C) Abird in hand is worth two in a
bush

(D) None of the above

184.

185. “Make a difficulty seem greater than it ~
really is.” IFtusemata .
(A)

The pen is mighﬁer than the
sword
Too many cooks spoil the broth

To make a mountain out of a
molehill

None of the above

(B)
(©)

(D)
Identify the figure of speech :

186. “Hope told a flattery tale

That joy would returmn soon”
(A) Simile

(B) Metaphor

(C) Personification

(D) Apostrophe

Identify the tense of the given sentence :

187. “I shall have finished my work by the

time he returns home.”
(A) Simple present
(B) Future indefinite
(C) Future continuous
(D) Future perfect

188. “The doorbell has been ringing for the

past five minutes.”

(A) Present continuous

(B) Present perfect

(C) Present perfect continuous
(D) Past perfect

189. “Rain falls from the clouds.”
(A) Simple present

(B) Present progressive
(C) Simple past

(D) Present perfect
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Fillin the blanks with correct verb which agrees | Choose the wrongly spelt word :
with the subject :
195. (A) BALM

190. There ' a new pair of (B) BOSEM
shoes in the cupboard. (C) BOWER
(A) are (D) GLADE
(B) were
©) is 196. (A) LEIZURE
(D) have (B) ANXIOUS
_ (C) IDLE
191. Some of the houses dark (D) ANNOYED
S (:ngy. Choose the correct synonym of the given
(A) has words :
(B) were
(C) was 197. Ply
(D) is (A) Examine
(B) Blow
192. There a lot of streams in (C) Worried
our country. _ (D) Go through
(A) are
(B) is 198. Deception
) o Eg; g:tz?::ging
D) h
() bes (C) Teasing
Identify the underlined word : (D) None of the above

193. This is the house which belongs to my | Choose the antonym of the given word :

ey
(Sfl\s) efr\loun 199. Asset

(B) Adjective (A) Liability
(C) Adverb (B) Property

(C) Information

(D) Relative pronoun (D) None of the above

194. The soldiers fought bravely. 1 200. Detrimental
(A) Relative pronoun (A) Sure
(B) Adjective (B) Attract
(C) Adverb (C) Beneficial
(D) Preposition (D) Praise
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SPACE FOR ROUGH WORK
TF &1 & fore Tom
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SPACE FOR ROUGH WORK
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IMPORTANT INSTRUCTIONS TO CANDIDATES

IEfigani o fore WUt e

13.

14,

15

17.

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method i Wrong Method || Wrong Methed || Correct Method

O800|0@00|0®00|0000

The Candidate must mark his/her response
after careful consideration.

16.There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, Cor D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15

16.

174

18.

19.
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